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48 step
‘comparison with four elementary huesRICB: hay o = 25.5, 92.3,
9 step equidistant grey scalet* = 26.8, 35.4, 44.0, 52.6, 61.1, 69.7, 78.3, 86.8, 95.4

Interpretation rgb —> olv* and CIELAB data of a 48 step device hue circle

for a SRGB standard display with the luminance reflectiorl,=5% compared to the white reference (100%)
M: hyy o= 319, 103.7, 137.6, 196.6, 302.8, 327.9

5.5,92.3, 162.2, 2717, and M' = 217.0, 328.6

Interpretation rgb —> olv* and CIELAB data of a 48 step device hue circle
for a SRGB standard display with the luminance reflectiort,=20% compared to the white reference (100%)

48 step device hue circle with six device hu€sYl -V

v = 25.0, 105,
‘comparison with four elementary huesRJGB: hyy o = 25,5, 92.3, 162.2,
9 step equidistant grey scalet* = 52.0, 57.4, 62.9, 68.3, 73.7,

5,1405, 197.2, 297.3, 327.0
I =217.0,3286

71.7, and I
,90.0,95.4

3 79.1,84.6,90.0,
(L84 0% Crap hadag 10> 0o Py [ 80 0% Clap Nadyag 100> Oy Gua Mg (L0 Cap Mayna 10D >0y dva Ny (L2 0 Clap s 190> Ny

300 555 650 425 776 332 10000.0000000 cO0V=C_210.0 855 -62.7 27.8 68.6 1561 00001000 100 00 300 655 451 0 47 248 10000000000 b 200 474 157.10.000 1.000 1.0

366 557 645 426 773 335 100001250000 cl2v 2166 B33 365 108 417 2086 00000875 100 Oy 366 656 449 211 496 251 100001350000 cizv 2166 842 2153 0,000 0.675 1.00(
o025y 439 567 618 438 755 353 100002500000 c25v 025y 439 658 43 214 492 258 100002500000 c25v 2239 634 287.9 0.0000.750 100
037y 518 590 557 464 725 398 100003750000 c37v 037y 518 667 422 226 478 282 100003750000 c37v__ 2318 57.4 302 500 207.1 000006251
050y 600 642 423 521 671 509 100005000000 T50v 050y 600 693 357 262 442 363 100005000000 6OV 0575 320 55 2586 0.0000500 1
062y 682 730 2L4 610 646 707 100006250000 c62v 06y 682 757 209 347 406 589 100006250000 c62 2482 58.4 342 -57.3 668 3008 0.0000375 100
oSy 761 840 -20 718 718 917 100007500.000 cT5v 7Sy 761 853 05 469 469 594 100007500000 cT5v 2561 59.0 359 -563 669 3025 0.0000.250 100
ﬁwm 0 cB7v 2634 461 656 -77.2 1014 3103 000001251, ﬁwm 0 c87v 2634 594 371 557 670 3036 0.0000.125 100
YO0SY 900 902 -340 766 838 1140 100010000.000 v0OM=V 2700 466 664 -76.4 1012 310.9 0.0000.000 100 yor 909 -286530 602 1185 100010000000 VOOm=V 2700 596 375 -55.4 670 3040 0.0000.000 1000
Vi2l 9656 886 -439 745 865 1206 087510000000 v2m 2766 468 666 760 1012 3112 012500001 Vi2l 966 896 -36.4 510 627 1256 087510000000 vi2m 2766 597 378 552 670 3043 0.1250000 100
V25 1039 874 -521728 895 1256 075010000000 v25m 9474 674 751 1010 3119 025000001, J25 1039 886 -423 496 652 1305 075010000000 v25m 2839 59.9 385 -548 671 305.1 0.2500.000
Va7 1118 866 -580 717 923 1290 062510000000 vi7m 2918 48.3 6865 735 1006 3130 037500001 Va7 1118 880 -464 485 673 1337 062510000000 va7m 2918 605 401 -539 672 3066 0.3750000 100
y50 1200 850 -621 710 944 1312 050010000000 vSOm 3000 498 706 -711 1003 3148 050000001 Y50 1200 87.6 -489 481 637 1356 050010000000 vSOm 3000 614 424 -524 675 3083 0.5000.000 100
V62l 1282 857 -647 705 958 1326 037510000000 v62m 3082 517 731 679 998 317.1 0.6250000 100 V62l 1282 874 -506 477 696 1368 037510000000 v62m 3082 626 456 504 680 3121 0.6250000 100
V75 1361 854 -665 702 968 1335 025010000000 v75m 3161 542 76.4 -638 996 320.1 0.7500.000 1,00 V75 1361872 -514 475 701 1373 025010000000 v75m 3161 642 496 477 689 3161 0.7500.000 1,00
VBT 1434 854 -672 701 97.2 1339 012510000000 vE7m 3234 57.0 80.0 -59.1 995 3235 0.8750.000 100 VBT 1434 872 -519 474 704 1376 012510000000 vE7m 3234 663 543 444 702 320.7 0.8750.000 100
DO 1500 853 £1STa0 ST4 1340 0000 LOODDOD nO-H 100 802 841 528 859 LT Lo oo 100c=L 1500 87.1 -520 474 705 137.7 0.00010000.000 mODo=M 3 $ 122 287 1000000014
l2c 1566 853 -680 700 97.6 1342 0.00010000.125 miZs 3365 506 BL7 426 822 3324 LO0000000. l2c 1566 871 -523 474 706 137.9 0.00010000.125 miZs 3365 G86 505 ~3L5 665 3316 L00000000.
125 1639 851 -691 698 963 1347 000010000250 m2So 3439 582 77.5 -271 821 3407 1000000007 125 1639 870 -528 472 709 1382 000010000250 m2So 3439 676 543 -135 57.4 3410 1000000007
187c 1718 849 ~7L0 695 99.4 1356 000010000375 m370 3518 568 733 ~7.3 737 3542 100000000625 187c 1718 869 -538 470 7.5 1389 000010000375 m370 3518 667 505 ~42 507 3551 100000000625
1s0c 1800 847 -728 692 1005 1365 000010000500 m500  360.0 557 698 146 713 118 100000000500 1S0c 1800 868 -547 468 721 1395 000010000500 m500 3600 66.1 476 83 483 98  100000000.500)
l62c 1882 845 745689 1016 1373 000010000.625 méZo 3682 551 67.7 324 751 256 100000000375 6: 2865 -557 466 727 1401 00001000025 m62o 3682 657 459 163 487 195 10000.0000.375
7 1951 844 751676 1011 1380 000010000750 m750 3761 549 670 405 782 SL1 100000000250 7 1951 866 ~561 450 726 1407 000010000750 m750 3761 656 453 195 49.4 234 100000000250
187c 2034 846 725568 921 1419 0.00010000875 WB70 3834 553 G57 422 781 327 100000000. 187c 2034 867 -543 399 67.4 1437 0.00010000875 m87o 3834 655 452 205 496 244 100000000.125)
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Interpretation 1gb —> olv* and CIELAB data of a 48 step device hue circle
for a SRGB standard display with the luminance reflectiort

09 compared to the white reference (100%)

Interpretation rgb —> olv* and CIELAB data of a 48 step device hue circle
for a SRGB standard display with the luminance reflectiorl =40% compared to the white reference (100%)

48 step device hue circle with Six device U@ "V hy, o= 28,5, 104.4, 138.8, 1968, 300.4, 327.6 48 step device hue circle with six device hUEYl CV: hay s = 21.9, 107.3, 142.4, 197.9, 2938, 326.1
‘comparison with four elementary huesRIGB: hay 4= 25.5, 92.3, 162.2, 2717, and M = 217. ‘comparison with four elementary huesRICB: hay 1= 25,5, 92.3, 162.2, 2717, and M’ = 217.0, 328.6
9 step equidistant grey scalet* = 38.0, 45.2, 52.3, 59.5, 66.7, 73.9, 81.1, 8.2, 95. 9 step equidistant grey scalet* = 69.7, 72.9, 76.1, 79.3, 82.6, 85.8, 89.0, 922, 95.4
s Oua Mg (L% D% Can Maiag 10D > 0 i N (@00 Cran haluad 190> 0N Ma  Migp [L3% 0% Clab Malvag 100> Oy
o00y- 0 cO0V=C_2100 861 -572 250 625 1565 0,000 1.000 1.00 000y=0 300 764 264 102 283 212 100000000000 OV=C 2100 899 -303 122 328 156100001000 1.00K
012y Gl2v 2166 835 325 -104 380 2109 00000675 100 ol2y 366 764 263 104 283 215 100001250090 ciav 2166 867 -141 -133 105 2233 0000075 100K
a25y 25v 2239 565 203 -G08 642 2884 0.0000.750 100K Ty @5 765 %62 106 202 221 100002500000 c25v 2239 748 98 313 329 2673 00000750 1000)
o3ry 3V 2318 469 442 760 880 3001 000006251 037y 518 767 256 110 278 232 100003750000 c37v__ 2318 722 156 -354 398 2937 0.0000.6251
050y v 0475 467 751 865 3015 000005001 050y 600 770 228 128 261 203 100005000000 COv 2400 723 164 353 7545 00000500 1
os2y 62 2482 489 496 728 G81 3042 00000375 100 62y 682 814 151 178 233 496 LO0D0E250000 cbv 2482 726 175 -348 390 2966 0.0000.375 100K
o7 75 2561501 521 707 67.9 3064 00000.250 100 SISy Tol 8044 o o 870 100007saguo o/ 6172 103 344 31 2979 00000250 100
g 87 2634 508 535 -695 878 3076 00000.125 100 w7y = 0 cB7v 2634 729 187 -343 391 2966 00000125 100
YOOSY 900 904 -324 675 749 1157 100010000000 vOOM=V 270.0 511 541 -690 87.7 3081 000000001000) 900 521 -203319 378 12265 100010000000 vOOm=V 2700 730 190 342 392 2090 0.00000001000)
Y12l 966 889 -416 654 775 1225 087510000000 vI2m 2766 513 545 -687 877 3084 0.1250.000 100 96 911 253304 396 1298 087510000000 vi2m 2766 730 192 -341 392 2993 0.1250.000 1,00
Y25 1030 878 ~490 638 B04 127.6 075010000000 v25m 2839 518 554 ~679 877 3092 0.2500.000 100( 1039 905 287 205 412 1343 075010000000 v25m 2639 732 197 -338 302 3001 02500.000 100K
VATl 1118 670 -543 626 B30 1310 062510000000 viTm 2918 526 570 -665 876 3105 0.3750.000 100 1118 901 -309 280 424 1370 062510000000 vi7m 2918 734 206 -334 30.4 3015 03750000 100
Y50l 1200 865 -57.7 620 B48 1330 050010000000 vSm 3000 538 592 -645 8765 3125 05000000 100¢ 1200 899 -323 265 432 1386 050010000000 vSOm 3000 738 221 -328 396 3039 05000.000 100K
Y621 1282 862 -601616 861 1344 037510000000 veam 3082 556 623 -6L6 877 3153 0.6250.000 100 1282 898 -330 283 436 1394 037510000000 v62m 3082 744 243 -317 400 3073 0.6250.000 100K
V75 131860 -614 613 868 1351 025010000000 vi5m 3161 57.7 661 ~561 880 3186 0.7500.000 10 1361 897 -33.4 282 438 1399 025010000000 viSm 3161 753 27.4 303 40.9 3120 0.7500.000 100K
V87l 1434 859 -620 612 87 1354 012510000000 veTm 3234 603 70.4 538 887 3225 0.8750.000 100K V87l 1434 607 -337 282 440 1402 012510000000 veTm 3234 765 313 -28.4 423 3176 0.8750.000 100K
100c=L 1500 B5.9 ~622 612 873 1355 0.0001.0000.000 mODo=M 3300 632 751 ~491 898 3268 1.0000.0001 100c=L 1500 896 ~338 282 440 140.3 000010000000 mOD 9 358 262 444 3237 100000001
in2c WiZo 3366 626 731 306 627 3321 100000000 l2c 1566 806 -339 281 441 1404 000010000125 miZo 3366 762 356 -200 411 3308 100000000
250 m250 3439 616 688 -239 729 3408 100000000.7 250 1639 895 341281 443 1407 000010000250 m2So 3439 77.6 326 -109 344 3414 1000000007
1370 m370 3518 60.4 647 60 650 3546 100000000625 187 1718 895 345260 445 1410 000010000375 m37o 3518 77.1 299 -22 300 3557 100000000625
1501 mS00 3600 595 613 1L9 624 0000 0.500) Is0c 1800 805 ~349 278 448 1415 0.00010000500 mS0o 3600 767 280 43 283 87  10000.0000.500]
62 me2o 3682 500 593 247 643 226 100000000375 le2c 1882 894 -354 7.7 451 1421 000010000625 m62o 3632 765 269 81 261 167 100000000.375|
3 50 3761 568 586 60 _27.3 10000000 0.250| [75c 1661 893 356 274 450 1426 00001000075 m750 3761 765 265 96 282 198 100000000.250|
187C 2034 85.3 660 50.4 831 1427 0.00010000.875 mE7o 3634 568 62 316664 2.7 100000000, 187C 2034 894 346 242 423 1451 000010000875 mg7o 3834 764 264 101 283 209 100000000.125)
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TUB-test chart KE93; 48 step sRGB device hue circle

input: rgb->olv* setrgbcolor

Interpretatiorrgb —> olv* and CIELAB data of colours Ma _output:no ch{a_nge compared to input
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